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aA 5061,3 � 
�a = 

P'a' 
= 

100 
= 50,61 
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an
BA �/�2 1446,1 1107,2 385,0 0,0 385,0 1107,2 1446,1 1107,2 385,0 0,0 385,0 1107,2 

nBA �� 28,6 21,9 7,6 0,0 7,6 21,9 28,6 21,9 7,6 0,0 7,6 21,9 
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�� ����� � � �	�%�	+� �s = �� = 0,0066 �/��. 
 
,	�%�	+ �
���
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t 60 60 � 
�t = 

Ox 
= 

n1·Ox 
= 

2200 · 180 
= 0,00015 
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���  Ox = 180 �� – ���
	 ��� 	+�-��� �
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�sB �� 0 5,6 22,34 48,78 79,44 104,5 114,2 104,5 79,44 48,78 22,34 5,6 
SB � 0,000 0,009 0,037 0,081 0,133 0,175 0,191 0,175 0,133 0,081 0,037 0,009 
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�'� 0,0017 �/� 
�'v = 

�t · K1 
= 0,00015 · 30 = 0,368 
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